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1. Some quick questions - yes/no answers are fine.

(a) If S = {v1,.,v,} spans a vector space of dimension n, does S have to be
linearly independent? /

No,
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vector space of polynomials?
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2. (a) Assume that
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3. Assume that T

is a linear transformation of P, into P; and in terms of the
ordered bases o =

{1,2,2%} and B = {1, x, 22,23}, the matrix
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What is T'(a + bz + cz2)?
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4. Given that T is 5 linear transformation mapping the vector sp
vector space W,

(a) Define the null space N(T).
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5. Assume that w # 0 and that w belongs to the span of S = {glﬁ‘.,f:ivithout
vector space V.. Prove that you can replace one of the vectors in S by
changing the span of S.
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